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CENTUM QUESTION PAPER -2

TIME:- 3 HRS MAX MARKS :- 100
PART - |

Answer all the 14 questionssiemearg g 14 CaeteilmEpa@ID LB maflGaan 14x 1 = 14

|) (@ +2.0) oo (520 + ) oédw euflenss Gamgser b erevfled, (a.h) eTeiTLE)

(@) (2,-2) ($) (5,1) (&) (2,3) (FF) (3, -2)
If the ordered pairs (a +2,4) and (5,2a + b) are equal then (a,b) is
(A) (2,-2) (B) (5,1) (C) (2,3) (D) (3,-2)

),) U Sy 601 61 G HSH6D Flemevtrs BHHMSHEMBLI LLBTLILSHS , 6T1hS LW (LP(ENEDT & 60T SHEDSUILD
9o46b UGBS BuNg HewLHGID IBFHeir
(®)0,1,8 (@) 1,4,8 (®)0,1,3 () 1,3,5

Using Euclid’s division lemma, if the cube of any positive integer is divided by 9 then
the possible remainders are

(A)0,1,8 (B)1,4,8 (€)o,1,3 (D)1,3,5
3) SL - .- 6Te0Tm QFMLTeuflemsuiiedr SibHs 2 miliy
16 8 12718
1 1 2 1
) — — ®) - ) —
( )2‘1 (<?=?.b)27 ( )3 ()81
31 1 1 .
The next term of the sequence —,—.—,—.---is
16 8 12 18
1 1 2 1
(A) — (T — ) = (D) —
24 27 3 81
l4> z' + 64 (g uTSH&LONS MDD SHHEDIL 65T LI6OTEUIHEUTEUDMIET 6T6eMSHE &nt L BeU6TTT(HLD?
(21) 42 (=) 162° () 82* () —82°

Which of the following should be added to make 2" + 64 a perfect square

(A) 12 (B) 162° (C) 827 (D) —8a*
5) 65 Cofl s1060TUNML 1g.60T EUEMTLILLD 6 GLD.
(&) Cri&Csen®k (@) eulLD () vy euememud (FF) snghlumreuemenwid
Graph of a linear equationisa
(A) straight line (B) circle (') parabola (D) hyperbola

b) e s afims 2 x 3 aefi, s o drr o g s ammidoe
(A) 5 (B) 6 (©) 2 D) 3
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If a matrix is of order 2 x 3. then the number of elements in the matrix is
(A) 5 (B) 6 (C) 2 (D) 3

Q&MhSSUIULL ULFHe / BAC — 90° wHpio AD | BC' erevfled,

2

@) BD-CD — BC* (@) ABAC — BC”
@) BD-CD — AD> (%) AB-AC ~ A’
615 whHod 1118 Lmugpsir_m &b Hurhisen &u)g)qné. seoguiled B

In the adjacent figure /BAC = 90° and AD | BC then

(A)BD-CD = BC* (B) ABAC = B(”
(C)BD-CD = AD* (D) AB-AC = AD’

B
(2. 1) & eul ol yeteflwnssd asnesorL & CrIsGsmbaeT
@S r—y—-3=0; 32—-y—-T=0 (&) v+y=3 3o t+y="7
@) 3r+y=3 2+y="7 (M) a+3y—-3=0 2-y-7=0
(2. 1) is the point of intersection of two lines.
Az —y—3=0; 32—y—-7=0 B)zs+y=33ax+y=7
C)3r+y=3 v+y="7 D)z+3y—3=0 c—y—-7=0

Ty — 2x = 11 er6trm CHAGCHT Lg6tT SMILIEY

) -% ®) 7 (© D) -2

The slope of the straight line 7y — 2x = 11 is equal to

7 7 2
(A) == > € =

tan fcosec’d — tan 0 —edr Y
(&) sect (8) cot’ 6 (&) sind (FF) cotd

tan fcosec’d — tan is equal to

(A) sect (B) cot®0 (C) sind (D) cote
U 2ib6GSH HULLSHer 2 FAuledipibg 20 5 2 wgweien sULLSHeT o &4, g
g dweunriler BnéesGanessr WennGwi 307 wHMID (0 eefled LD LGS
&LLL ST 2 Wb wHmID B &1L L Th&EHHE QemL Guiujeiar o\Hmemeveurnent g (B Lifled)
(@) 20, 1033 (@) 30, 3 (@) 20, 10 (m) 30, 103

The angle of depression of the top and bottom of 20 m tall building from the top of

a multistoried building are 30" and 60" respectively. The height of the multistoried
building and the distance between two buildings (in metres) is

(A) 20, 10v3 (B) 30, 53 (C) 20, 10 (D) 30, 1083
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12 I QOGHET QD ©_ 6L @H &0 eI HBHMernhdHerfledr g lie d oer EemeoorshaLILbLD
) Gurg) & heun@Ld Hevoriodhd 6ot LmUmiL

()47 & o (2) 6" & o (@) 311" 5 2 (/) 877" & o1

If two solid hemispheres of same base radius r units are joined together along their
bases, then curved surface area of this new solid is

(A)dar”® squunits — (B) 6ar* sq. units (') 3 ¢” $q. units (D) 877’ sq. units

,;) STNSNuNSBIHEH HlemL_ SHH0 QUMD Hireyls Leirerfla@hemi_ul 6060 o ks erflebr G (b 60T 60T &)

(D) sThOUITARSHID 106 616501 (8B) sTIOWINTIRBHID GHedm 676607
(&) @&FAund () W&AuomhHm apshser
The sum of all deviations of the data from its mean is

(A) Always positive (B) always negative (C) zero (D) non-zero integer

];_9 KM BUBSS Geusmed @fDLﬂugg’Daanaﬂ H&Hps&6uT6uT8) % Geuemen Hemi_sHa M6
LouusHHTET [Hleps 56 1; ereufled 2-ulledt wAHLneoTey
(&) 2 (2p) 1 (8)3 (m) 1.5
The probability of getting a job for a person is 1 . If the probability of not getting the
job is 4 then the value of z is ’
(A) 2 (B) 1 (©)3 D)15
PART -l

Answer any 10 questions. Question No.28 is compulsory. 10x2=20

,5) A =1{1,2,3} wpmwo B = {z |z eredTug) 10-g2 €& A us eresor} erenfien, A « B WLOHMID
B x A sydweunenmé smesors.

Let A ={1,23}and B= {z |z isa prime number less than 10}. Find A « 5 and 5 - 1.

“,) TN N eredim amiy f(x) = 22 1 ereot UM WIMNISHSLILIL L Ted G QROTNIHS 66T T 60T
2ye01en GLoeb 61T eDened T601d SITL (hé.

Show that the function N — N defined by f(x) =2+ 1 is one-one but not onto.

;7) 10, 11,6, 1, e16drm nl’ (b O euflemsuiics 51 STEDTLIG) 6 6 60T IMEUS) 2_miy?

Which term of an AP 16, 11,6, 1,...is 1@
|8) B & FLO 60T (b & 6rfledT CLOEO I & erfledT SH 60T 6OLD 60D U 1b

For M)|&.
Determine the nature of the

roots tor the 90t e 4 L6 0
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' { : x . . .
\q) A —— 9 eteuflen, L9160T6U(IHEUEITEUMEMME SHTETOTS.

‘ I n] ‘7 3 x] ) 4
It A B find the value of 3A 9B
N3 T [ Y

D-D) Quevory, Qg eowwl eulLhsefled, 16 6glB Heruemwi el eu' L sHledr Hrevomen g
6 61 5 Qyeten A e’ L HHNHSS OWBNLEHTL 18 Heminfmb@ITed, 6l eut’ L gHbledT HT1D HTesoTs
In two concentric circles, a chord of length 16 cm of larger circle becomes a tangent
to the smaller circle whose radius is 6 cm. Find the radius of the larger circle.

(3,—2), (12,4) eretim yeeflaer euflé Glgeod BrIHBSML P LOHMYD

(6.-2) wHmid (12.2) eteétim yetaflaer eufls age@Id CrisBsMb § SHGW. P o8 (-56E
SemevonLimGLon?

RPN ~ o~

The line p passes through the points (3,—2), (12,4) and the line g passes
through the points (6,—2) and (12,2). Is p parallel to ¢ ?
gmiey Gamevond 30 HMID Y-6uL (bSHEIEToTH —3 SpEeuDHEDDE O1HMetoTL b &Bsm 1q 61
SFOTUNL6ML& SHIT600T8.
Find the equation of a line whose inclination is 30° and making an intercept —3 on
the Y axis.
S043 18 o_wimpeten @b unedpuledt o FAuledipha 30° @néssGsnemis sl
sewquigueter ERHG QOTH UNTHSILGEADES erefled, WHWHHDHSL UTEODSEGD
BemL_BuiweTer O5Teme0enaud SIT6ours.
From the top of a rock 5043 m high, the angle of depression of a car on the ground
is observed to be 30°. Find the distance of the car from the rock.

JL\) Qb Hlevuio sienrHCHTeaTHS 60 Suqiiunliy 1336 &.185 erevfled, SiB6iT OOTHSL!
UoLUTCienLs &Teuors.
If the base area of a hemispherical solid is 1386 sq. metres, then find its
total surface area?
2 5‘) &0 HTHBET OIBHMEOUTL. E(H dnldLGefledr Her sieTeyset 3600 &. 6185 HDID 5040 & aF .8
ereufled, 2_wighisefledr eSSID HTeT0TE.
The volumes of two cones of same base radius are 3600 cm?® and 5040 ¢cm3. Find the
ratio of heights.
).b) suelledr nnafiwine gl 25 6 HDID Sihedr WITMILNL (bék OIS QeuTedTgy 1S 75
eTeufled, 25601 Gl L 6516056 5H60HEH HN6TOIS.
The mean of a data is 25.6 and its coefficient of variation is 18.75. Find the
standard deviation.
)_-7) QO sweunLILG Gengeneotuled A. B gydlwiemen getemmelnem) efled@n Hepsdoer.
Guaid P(A @dene) —~ 045 P(ALB) =0.65 erefled, P(13) -géb snevors.

If 4 and B are two mutually exclusive events of a random experiment and
P(not A) = 0.45. P(AU BB) =0.65, then find P(B).
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)_g—) P +2 +3 4 4 k% —=44100 erevfled, 1+ 2 + 3 + --- + k uledr &y Hnevors.
If1* =28 w38 oo B —=44100then find 1 +2 +3 4+ 4+ .

PART - lil
Answer any 10 questions. Question No.42 is compulsory. 10x5=50
2_,:1) A={1,2,3}, B=1{23,5}, ("= {34} womwo 1) = {1,3,5} erevfled
(ANCYX (BN D) = (AXB)YN(C x D) erediug) ©_evuremiowin 61601 GandHlébaemeywn..
Given A={1,2,3}, B=1{2,3,5}, ('={3,4} and D = {1,3,5}, check if
(AN (BND) = (AxB)N(C"x D) is true?

50) t eretTm SMTUTETE lFevdlwedled ( (1) &_emer Aeuliuflenevenuwid, unTedradiiged (F) o _erer
Ssutiuflemeoemwit b Bem vt @&LD FMTUNGLD. Gogitb 218 /(1) = [ 6T60T 6uemTUIMIGSHULILLT6D,

(@hie I - (—:( 4 32).

(i) #0) (ii) #(28) (iii) #(—10)

(iv) 1) =212 o8 BméEewGung C -61 iy

(v) egeddweiv iy  ungeteSl.  diyd  swowns  QmsGLEUNE  eulublened

A WeUHenDEH HETOTL M.

The function ‘¢ which maps temperature in Celsius () into temperature in
Fahrenheit (F) is defined by ¢(C") = F where I = 3(’ +32. Find,

(i) #0) (ii) #(28) (i) t(—‘i())

(iv) the value of C'when (") =212

(v) the temperature when the Celsius value is equal to the Farenheit value.

3\) Sl H6o18) (WGed G euEBLNETONS T 15,000 FLGADAT. HHetT IDG QeuGeunt Kyevurbld

Si6uT 8 NG euEbLonenTd T 1500 2 _wTdns). SiUEHEOLIL (WS NS a6y T 13.000 wHnId

sieuengy NGMHHTE 6566y euGeui Syetoreid TV00 & wiidng. Wiflwneler wisnbHIF
Gebiiy 220,000 SiemLWI 6TEUEUETE)Y HTEOD ELD?

Priya earned 215,000 in the first month. Thereafter her salary increased by 1500 per
year. Her expenses are 213,000 during the first month and the expenses increases by
2900 per year. How long will it take for her to save 20,000 per month.

32 Ot 41207 2807 far b gpeoiE @O Wpeuidsd eteofled. a. b
&, Slwieunrleir W HIILSHENeTs &ITeToTsH.

If 90' + 120" + 280% + ar + b is a perfect square, find the values of aand b.

33)- 308 4 Tr 2 0, etedip SweTUNL 1G0T cEOSBET a LOHMID I ereofled
Q&Mb&HGULLL HUILSENETH &HIT6T0Is.
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If @, 3 are the roots of the equation 327 + 7r 2 - 0, find the values of

N O i ol 3’
(i) —+— (ii) —+—
B ] a

1 3
51‘_) A . 1]‘ B

FflunT S S0,

Given that 4

verify that A(B + ()= AB+ AC'.
557 Gsnevor @msiwaeul iy GasmHmid (Angle Bisector Theorem)

36 Show that the given points form a parallelogram -

A(2.5,3.5), B(10,—4), C(2.5,—2.5) wpmud D(—5,5) opdwien BenesoiansSlesr (enedil]
UeTerfl& el 61601 S (b,

B’V seorulemnbs @ yetefluledmba 30 15 2 _wimuperer sULL SHler GuayeTsr
QO Canyrssler sug whHnIb 2 FHulsr ghnésGanemmisst WedmGu 15° wHob 60° erefle,
CamursHet 2 _WITHenHSH SHTeooTs. (\/_3 —JN739)

From a point on the ground, the angles of elevation of the bottom and top
of a tower fixed at the top of a 30 m high building are 15° and 60° respectively. Find the
height of the tower. (\/—3 =1.732)

38) 6 61815 uWeTeT Qb FHetunod GoNemd 2 _hoUILIL(b& EINET HLoEETeT G £ atafl Hn
2_(Hemenwing nHpULGEDS. 2 meneruler aeuafl b 5 Q&S wHmId 2 _wimd 32 658
ereufled, 2_(Hemamuiledr HiqLOEmEUTd SHT600TE.

A solid sphere of radius 6 cm is melted into a hollow cylinder of uniform thickness. If
the external radius of the base of the cylinder is 5 cm and its height is 32 cm, then find
the thickness of the cylinder.

gq) G E5HHEHM .6 810 wgHed n e eesousafler sansl wHID eI0ds euisss sonsfasmerd
HITEU01&.

Find the mean and variance of the first n natural numbers.
)_“,> Buetih, FINET UGN &6 (WemnWINs QGBI GrIHHed 2 HL L LILbHledTmeot.
(i) @esorp usenL sefl@Id RBY s WHIY HewL oo
(ii) we wHleeflar LIHHSMHLIE LIGT 6T6UUTeINNNHE el Hs
(iii) W& wHsETlET s (LHE LGN 6TETITENITSHS HlenL b
(iv) ws wHiyseflen snbse |-256 Smbds
ayéw Hlapédlsefler HopsoHeysenend HTeHos.

Two unbiased dice are rolled once. Find the probability of getting

(i) a doublet (equal numbers on both dice) (ii) the product as a prime number
(iii) the sum as a prime number (iv) the sumas 1
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@ & mewenuliedn 155 g BewL_baoTLID BDTTIHGEUTN) HDLHS 6T
yeoredledt (funnel) Gwongg & wimb 20 61515, &_hewmenuiledr & wigd 12 6168 whmib efi’ Lib 12 61515
. QewLHHTTLHHT GuoHUD ellLLD 24 6618 erevfled, yeoredledr Gleusfliym LNliEHLIG
HEOTHH(bS.

A funnel consists of a frustum of a cone attached to a cylindrical portion

12 cm long attached at the bottom. If the total height be 20 cm, diameter of the cvlindrical

portion be 12 ¢cm and the diameter of the top of the funnel be 24 cm. Fina the outer
surface area of the funnel.

Ly )_) KO WGHSGS OsnLieuflensulieor 9-eugy o my'iy 32505 wHmd 6-eugy & myiy 1215 ereofled.

13)
(P

12-eugy &_miliewus SHTevors.

In a G.P. the 9™ term is 32805 and 6™ term is 1215. Find the 12" term.

PART - IV
Answer all the questions 2x8=16
4 xS SpoupeiTenr eulLID euemTs. Ul L HHleoT
Baieiten L eredim yeimerfl euSluins ombmi el L S&HI650T(b BHHMm St
UwIesTUBL S S eul L SHMHSS OSMbBEHM(b 6T S.
Draw a circle of radius 4 cm. At a point L on it draw a tangent to the circle
using the alternate segment.

’.

OR
(b) aiqIussDBC = 5.6 6.5, LA = 10°whHmwb £ A-uler Bmeoaeuquiners Sqliussid
BC-g CD=4 a&.5 ettt D-ulled shdHeH@onm) Siemowjid (pé&Bamesond A B euengs.
Draw a triangle ABCof base BC' = 5.6 cm, Z4 = 10° and the bisector of /A meets
BCat Dsuch that CD = 4 cm.
L}A) o Gumhbsl 50 dibioell eem Smer Geussdedr LWENGEDS

(%

(b

8668 TUssNeT GIILD — GHILD EUEDTLLLD 6UeDNhHE), LTEHEUMTEUHENMS SITET0TS.
(i) eldlgsio wnriedlemuidh HTeoors
(ii) 90 Hub_rusefled LWeTBlGESID ST eraieueney?
(iii) 300 &.8. sITHEWS Lweotllbs eraicuatey GHID p@D?

A bus is travelling at a uniform speed of 50 km/hr. Draw the distance-time
graph and hence find

(i) the constant of variation
(ii) how far will it travel in 90 minutes?
(iii) the time required to cover a distance of 300 km from the graph.

OR
y=(r—1)(r+3) —ulledr euemFULLD 6uEWTHEI, HIGHEWEUTLI LILIEDTLI(bSH S =20 —06=0 eredrm
FOTUNL L& SIj &HeYLD.
Draw the graph of y = (« — 1)(x + 3) and hence solve +* =2 -6 =0
M.A.SENTHIL KUMARAN

B.T. ASST IN MATHS V.M.G.H.S. SCHOOL PERIYAKULAM 625601 THENI DT
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